55 4107 106 & 2 ATie 4 | BT i cin o
" NI ‘3!3 2 4 ; :; j‘u \/i’_'- VI 3 s ‘3‘7“"3‘%}7\ ‘| —1_ % Bg 19 » :»’
el [RA]: 82F 24 K [K0112) ASLAE A AR ANt Gl
FI&BEPP CZRABIRNGE THER L o GREBFIBA S X EE > LRERBOORELPARAEEFLFES 6L
X5 > Hvd B fle o R
AL OFERARAEEE R HU TS ACRREBEI N o P R R THE R (- ) BEApZ-2pRBREFIHMERLFE G252 50?2 [17 #]

A - @ % Lk L FREITEH 33320 ¢ RN ST YO MGG T LI O [8 A
®j\€4‘5%§‘55-%{‘i’#?‘E’kﬁgz?tﬁﬁ%’p{ﬁc@iﬂ 25 /> 5 #3100 A o (=) #&ﬁlvfiﬁ-/ Pi%.lpf_jﬁ-/ v [ ]
QAERLANE R I HLARFENFRE RN TY > T ifdidpy 7 2PN L4 Y {A—Y {Y—Y {A—A {A—A
TERPICE o - ] ) )

@#_7,7%??%%%.%{*‘@;%‘7‘%5»3—% ufﬁ%f—-ﬁ?e‘;&#ﬁg’ﬁl‘*vi BB o Y-A [AY Y=Y [Y-A
OABRHEFR*FEAT I LR EETPMA Sl T ARSI &~ AN H ) 23
E B FRY AN RIBRER BRI BRE N LR AR o LRk P
%Té?jﬁ’éiﬁﬂa‘rloé\;éiéﬁdfr%i}ﬁﬂgi'vigpé“513-?_1.P<FP/P56E-5§\ ’p:'
@F BBy > ABYFUPUFLFE -
T

Fr¥t- e H kAN AR R FEAR Y T E N

() Fd a2 L1 Bpar Rt TER AL BB
MRIFRPNAFFIEE D [8 ~ ]

(Z) £~ P A COP % 52 8- /kokifh ® ;ul» w » hkokin g
5000L/m(”\—1/4> B)fF o diokgw ok ] G 8 CE 13°C o Rt P AR BT
atﬁn—‘ L %0 KW ? #k-k % B =1,000 kg/m® > +* 4.=4.186 kJ/(kg T)-[7 4]

(2) & <~> A2 BT FHAPEFERS B FREET S R 9
[5/\] ¥ i

(m) &3 (2) PREZ BT FRAREDFLFFLEE S 060 R L AR F2 A EE500 KN w1 50§ 1000004 0k §E 450 kW) T o
?‘5 # o kw? [54] 100,000 & + % % £ 580 kW - 4o 9% % 180 Z/KW > i T % 2 %/ » s+ Ew 1

PTRTREEs R0 [254])

5%

1 ER - ¥ 1,500 KVA & * 31838 T 4% Rix f £ 1,000 kKW 7 5 7]
H o ars b J00KW > 7 S FlHc 0.8 i 18 f % - dopi @ 15 2 B L9 iR
FrE R I REES PR R Y [254])



